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Q-1. Solve these :

1. T O 2 T O 3 T O
9 8 4 7 8 0
- 2 4 -1 3 - 6 0
7 4 3 4 2 0
4 T O S. T O 6. T O
7 5 9 2 8 8
- 2 6 - 3 3 - 3 9
4 9 5 9 4 9

Q-2. A fruit seller had 98 oranges . He sold 49 oranges in a day. How many
oranges are left with him now ?

Sol : Total oranges= 98

Sold oranges = - 49

Left oranges= 49

Q-3. 98 birds were flying in the sky . If 47 of them sat on the tree, how
many birds are still flying in the sky?

Sol : Total birds = 98
Birds sitting on the tree =-47

Birds flying inthesky= 51



